
M8 Shim 12pcs M8 nuts 12pcs KM3*25mm screws 4pcs

Pole 4pcs M3 Shim 12pcs M3*6mm screws 38pcs



Spring 4pcs Thumb nuts 4pcs M4*6mm screws 19pcs

M3 nuts 12pcs M3*20mm screws 13pcs







 







 







 







 







 

 





NOTE:
Please insert slowly and 
carefully to prevent 
damage to the linear 
bearings!!

NOTE:
Please pay attention to 
the wire of bed. Use 
winding to wrap these 
wire, and donot let the 
electric wire touch the 
motor!!





 

 





NOTE:
Please insert slowly 
and carefully to 
prevent damage to 
the linear bearings!!



NOTE:
Please insert slowly 
and carefully to 
prevent damage to 
the linear bearings!!



NOTE:
Please insert slowly 
and carefully to 
prevent damage to 
the linear bearings!!




























